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Guru Nanak Dev Engineer ring College, Ludhiana

;._B : Department of Applied Science
| ¥rogram B.Tech. | Semester ]
: (CEA.EEBECB)
_Subject Code HSMC-103 | Subject Title PEEM
|# Mid Semester Test Ne. 1 | Course Coordinator Pf Jasmine Kaur
s 3 —
.‘ l\)lax. Marks 24 . | Time Duration 1 hour 30 minutes
| ate of MST 26-09-2023 : Roll Number
L i
| Note: Attempt all questions B
| - " .
Q. No. \ o Question | COs.RBTlevel |
1 Q1 Explain Lionel Robbins definition of Economics, —Tcor -
Q2 Define the term “Giffen’s Paradox™. CO2. L1
1 Q3 E\plﬁm the properties of Indifference Curve with the help of smtable | CO2. L3 T
| graphs i
Q4 Explain the Scientific Principles of management given by F.W Tavlor ’ CO4, L2135
|
| |
| |
! Q5 “Poor families spend a relatively large part of their income on | COS LAES ‘
" necessities, whereas rich famihies spend a relatnely large part of their . |
, income on luxuries™. Defend or refute the statement with the help of | i
| suitable graphs. | !
6 Explain the methods of Elasticity of demand in detail. ‘
p 3
CO2, L4, LS
| . |
| | X
"Course Outcomes (CO)Students will be able 1o
1 Understand economics and basic Lonccp@ [ — 1 -
{5 Understand demand and 1ts ,\Lplu.mon in analy. nno “consumer behavior -
[ 3 Evaluate cost of various factors of production _ _
4 Ensure effective and Ltﬁucnl use of vanous cost analysis ~ o
3 Apply various techniques for replacement studies .
6 | Evaluate varnous factors of production and ensure is \ppll;dllon\ Tor cost reduction

[RBT Classification___| Lower Order Thinking Levels

-4

Higher Order Thinking Ley

I ] 3 14 L S
" RRT Level Number | l K L2 | L [ 1
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|
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Guru Nanak Dev Engineering College, Ludhiana

Course Outcomes (CO)Students will be able to
Understand economics and basic concepts.

5 Department of Applied Science i
rogram B.Tech. (ECE A, Semester by | !
ECE B, ITA, ITB.
i IT C, ME B) {
Subject Code HSMC-103 Subject Title PEEM
Mid Semester Test No. 1 Course Coordinator Pf. Jasmine Kaur
Max. Marks 24 Time Duration I hour 30 minutes
Date of MST 31-03-2023 Roll Number J
Note: Attempt all questions i l
’QQIO- Question COs, RBT level Marks
(( QL) _ CO6,L1 2
Can marginal product be zero or negative?
| Q2 How does the availability of close substitutes affect elasticity of CO2, LI 2
< demand of a product?
£ i '
Q3 Discuss the relationship between TP and MP with the help of suitable | CO6, L4 | 4
N diagram.
Q4 Explain the law of retumns to scale with the help of suitable diagrams. CO6, L3 |
i 4
-QS/‘ Which principle of management states that the communication should | CO4, L3 4
flow through a proper channel? State and explain the principle. Also
state any one disadvantage of the principle.
( SQ @ Calculate cost of production when: Prime cost=Rs 550,500,
factgry overheads are 45% of factory cost and office and CO3, L6
administration dverheads are 30% of factory cost. n2603l- 12
- Calculate value of raw material consumed from the following
! data: Opening stock of raw material= Rs 35000, purchases= (4+4=8)
95000, closing stock = Rs 15000, direct labour=Rs 10,000,
purchase returns= Rs 2000. (4% 000

Understand demand and its application in ana

Evaluate cost of various factors of production.

Apply various tec

hniques for replacement studies.

lyzing consumer behavior.

Ensure effective and efficient use of various cost analysis.

Evaluate various factors of Eroduction and ensure 1

FU’ILMN_‘

its applications for cost reduction. i'

Higher Order Thi_;['nking Levels

RBT Level Name

RBT Classification Lower Order Thinking Levels
RBT Level Number L1 L2 ‘ L3‘ L4 15 16
Remembering | Understanding | Applying Analyzing [ Evalyating | Creating
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[ Guru Nanak Dev Engineering College, Ludhiana
Department of Applied Science
Program B.Tech. (ECE A, Semester ﬁ"//
ECEB, ITA,ITB IT
C,ME B)
Subject Code HSMC-103 Subject Title PEEM
Mid Semester Test No. 2 Course Coordinator Pf, Jasmine Kaur
o
Max. Marks 24 Time Duration W
Date of MST 24-05-2023 Roll Number J—’”
D # 3 -
Note: Attempt all questions
Q. No. Question -‘_TCJOS—,—W
3\ I, e
o1l Differentiate between Total fixed cost and Total Variable cost. CO3,L1 __—’2—-—
What is meant by break-even Point? C0o4, L1 2
. TN . -
@ Calculate economic order quantity when annual consumption is 48000 units, CcO2, L3,L4,L5 4
Ordering cost is Rs 9 per order, Carrying cost is 15% of per unit cost and per
™ unit cost is Rs 4 perunit. fo& =1700, Mib =40 . AR sl |
Q4 “Costing is an aid to management”. Comment C06, L2,L3
4
Explain the assumptions of the theory of Marginal productivity. CcO3,L1,L2 4
Select the best project by Net Present Value Method and give reason for the
same. Estimated life of the asset is 5 years. COs5, L6
Cash inflows of Cash inflows of Net Present Value of
Project A in Rs Project Bin Rs Re.l@ 10% 8
discounting factor
| 110,000 70,000 0.909
100,000 56,000 0.826
65000 90,000 0.751
120,000 1,50,000 0.683
80,000 80,000 [ 0.621 N
Project A: Initial Investment=Rs 2,50,000 — 13045 )
Project B: Initial Investment= Rs 300,000 — po;m/ ma  #sy
=000 (9( 7

Course Qutcomes (CO)Students will be able to

Understand economics and basic concepts.
Understand demand and its application in analyzing consumer behavior.
Evaluate cost of various factors of production.

Ensure effective and efficient use of various cost analysis.

Apply various techniques for replacement studies.
Evaluate various factors of production and ensure its applications for cost reduction

Sl njwlnl—

RBT Classification Lower Order Thinking Levels Higher Order Thinking Level
e
LI [ L2 L3 L4 e -

RBT Level Number
RBT Level Name Remembering l Understanding Applyi i
pplying Analyzing Evaluatin i
g Creating
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Guru Na;;)ak Dev Engincering College, Ludhiana
, epaxtment of Applicd Scie
Program B.Tech. (CSE B, Scmcsfcr = I
CSE C. CSE D,
_ CE A, CEByoff
Subject Code ?SMC 1037 Subject Title PEEM

Mid Semester Test No. 2

Course Coordinator

[

Prolf'. Jasmine gKaur & J

rj0mines
l

Dlaxsb lars 24 Time Durati [ hour 30 minjites
Date of MST ime Duration hour mm‘
21-02-2020 Roll Number
- 22/u4053
Note: Attempt all questions {
- NN
/Q/‘}:\"' Quecstion COs, RBT level Marks |
@L/} Define Consumer's Surplus Cc02, L1 2
ey |
G@g/ | Define the term " Carrying Cost" CO4, L1 1 2
L~ P s o
1 Differentiate between Unity of Command And Unity Of Direction. M 4
\_y Calculate economic order quantity and number of orders when annual | CO6, L5 |
consumption= 40000 Units, Carrying cost per unit= 50 Rs and cost of i
placing an order= 25. i
(2+2=4) |
: .
/05 co2,L4 | 4
Wf‘; ‘Explain the assumptions of Marginal productivity theory. i
; Draw break even chart from the following data and also verify '
: numerically- Cco6,L6 | ]
! Fixed cost= Rs 250,000 , variable cost=Rs 20 per unit, Selling ; ;
| price= Rs 45 per unit. i
i 8
I Course Outcomes (CO)Students will be able io ; A
! |
T Understand economics and basic concepts.
2 Understand demand and its application in analyzing consumer behaviour.
3 Evaluate cost of various factors of production.
4 Ensure effective and efficient use of various cost analysis.
5 Apply various techniques for replacement studies.
[ Evaluate various factors of production and ensure.its application for cost analysis -
i RBT Classification | Lower Order Thinking Levels Higher Order Thirking Levels |
RBT Level Number | L1 1 L2 | L3 14 L5 L6 |
| Remembering | Understanding | Applying | Analyzing | Evaluating | Creating |

|
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et = cmeem o _Gurn Nunak Dey Lnginceting College, Ludhlang
Progrem e i T i _ Depurtment af Applictd Sclence
s pociu ICRE LG Semester i
A
FRURIIE TSRO HYLY
Ned - e JISNECRTDY T T St TH T
Sewpcster Tesl N0, 3 e e e _Subject Title PEEM
_ ] Course Coordinator I'M. Jasmine knur i
Max Marks s R et e e e
Date of MST ST R """‘;-"—‘.. . - Time Duration | Tor 30 minptes e
A TS b} Holl Number
g‘:’ Altempt all qm-:__\_ﬁun\“ it el pre e o i e
. No. T~ — ; T
Question COs. RBT level Marks \
Define the term demand COL. LI 2
Tonplain the dillerence between costand price. CcO3. L1 2
—y - . N N
Q3) Eplain the propertics of indifference curse with the help of diaprams. C€02.1.2 |4
Txplain the relatignship between THCTVC and 1C with the help of diagrams. CO3.L3 4
- .‘——_—"——_‘_
| Toxplainihe 1aw of returns 1 scals. CO3. LA — | 4
i A) I‘rmr} the tollowing datx caleulate Net factory cosi-
| L!Oilllg stock of row material- Ry, 800,000 CO06, L6
i Direct wages-Rs 345000
! - Carriage inwards- Rs10.000 —
i Opening stock of work in progress- Rs 60.000 (6+278)
! % Opening stock of raw material- Rs 75000
‘ { Depreciatiun on vltice building- Rs R0O.00G
! Heat, light and powei- Ky 90,000
: Factory repairs- Rs2:4.300
; Factory supenision- RS 67.83
4 -Closing stock of Work progress-Rs 87930
;4 i Purciunse of ran materisl-Rs 4500
H Purchase Jicturns-Rs 260
] Sale of wiste-Rs 3390
: Sale of serap- 4300
| Heat. light nd pawer is icr b distiibuted in the atio of 5:4:1 among factory. g
office amd salds respétivey. :
i B)- Define works cost 1 ;
b . %
Course Outcomes (CO)Smudents witd oo able 10 =1
! 1 Understand cconomics and hasic concepls. !
4
! e N b
2 “Understand demand and s application in analyzing consumer behavior, .
3 TEvaluate cost of varipus factors ol production . 2
K] TEnsure ellective mnd efticient uee ol viwious cosl unalysis ‘
5 T Apply various techuiqusy Tor replacenent of ussels
3 " Tovaluate various factors of produriion und casure its applications for cost reduction.
[ RBT Classification 1 Lowev Ordey ‘Thinking Levels- .
{"RBT Level Number I Li | 3 N Higher Order Thinking Levels
| RBT Level Name I Renseraberiug | Understanding Appiying e 14 1.5 T
Analyzi T rETTT |
yzing Evaluating. | Creating |7,

N i
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Semestor (1/2)

of Enf’,inccring Economics

and Managernent
Sudject Code: HSMC-103

: Paper ID; 15978
Time Alloweq: 03 Bours

NOTE:

1) Parts A and B g
2) Pext-C has Twe Questions

3) Any missi

4) Use o

(D) Lxp

@ “Good management is the

itto save cost is like losing weight by giving blood”, Comnient.
@ Draw the grapt: of point method of ela
@ Draw the diagrams

Draw the praph and calculate ¥

@ “First twa stage
') «

preportions.” Co

[2 Naﬂ/\’ /o
Wpck (D Madeam p -

fealeulator js allowed

Calzviate Prime Cog
of raw material used

(&)
Fixed Cost=Rs3,50,000, Sellipg
Price=Rs75/umit angd Variable Cost =Rs25/unit .
Caleulate Payback peri
are R§'1,10,000,

@ “Replacing an asset can be an expensive decisj
-l )

Max. Marks: 60

r¢ compulsory

Q& and Q9. Both are ¢

ompuisory, but with interma) choice
ng data may be assumed apprepriately

" Part- A [Marks: 02 each}

@ Dcﬁn@Ec_aupmr'cs A.,ve:mgc cost
()

Explain Esprit De Corps.
(<)) Defins (i) Direct

Cost (ii) Work in progress,

L4
lain any two economias of

scale of production, . .
lifeblood of the healthy corporate body. Getting rid of
sticity of demand.

Part—-B {Marks: 04 ezachj

and explain properties of Indifference
t when value of raw materfa) used
and Direct Expenses are 15%0f D

Curves

=Rs 35,500 Dircct Wages are 25%
irect Wages |
Break Even Point, when

od when initia] investiment js Rs 6,05,600 ang annual cash inflows

on.” Comment,
5 are just the passing phases, third stape is

the ultimate Jaw of variable
mment and draw the diagram,

theorst- poytiom f‘
;

' Page 10f?2
(2 pongiral p-T ‘ S

B pespes. of

olaphis ity

of vardalle and fow ofriehmf seaty
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8.y Explain Modern Productivity theory of distribution.

‘MORN‘N'G
3s L

Wiarks: 12 each)
Part ~ C [via

Or

"@, Lefine Blasticity of Demand, exp‘la'm and draw the d.ugrums 0

QY.

[ price elasticity of
demand. :

Select the best project by Net Present Value method and give reason for the same,
(estimated life of the projects 1s 6 years)

| Cash inflows of project A | Cash inflows of project 13
l proj

Net Present Value of Re.l @ |
. 10% discounting factor \
L Rs 2,09.000 | Rs 195,000 0900 l
| Rs 190,000 | Rs 1,90,000 | 0.826 i
“Rs 1,55,000 | Rs 1,65,000 | 0751 \
| Rs 1,15,000 | Rs 1,10,000 10,683 \
| Rs 75,000 | Rs 85,000 | 0.621 |
LRs 65,000 | Rs 60,000 |.0.564 !
Project A 1 Initial investment of the project =Rs 3,35,000 g .
Project B : Tnitiul investment of the project =Rs 3,30,000 . S
Or

€N
Calculate internal rate of return when:

Initial outlay =Rs 2,00,000, Net cash Inflow per annume=Rs45 000, Sstinated Vife of the
Project is 7 years and required rate of veturn is 9%. Discount factor et 11% 15 47122 and
viscount factor at 17%s 3.9224. Give your opinion whether the projest should bcu i
accepted or rojected g :

BNV R O RN ok

Page 2 of 2
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Total No. of Questions: 09) [Total No. of Pages: 02]
Uni. Roll No. .24033u.3 '

Program: B.Tech.

Semester ( 1/2)
Name of Subject:Principles Of Engineering Economics and Management
Subject Code: HSMC-103
Paper ID: 15928

Time Allowed: 03 Hours Max. Marks: 60

NOTE:

1) Parts A and B are compulsory
2) Part-C has Two Questions Q8 and Q9. Both are compulsory, but with internal choice
3) Any missing data may be assumed appropriately :

Part—A [Marks: 02 each]

{12
.

g -
@ DeﬁnemandManagement (Ve
,EXplain onsumer Surplus. 2
ﬂ, Explain any two principles of man
‘“-,“,’ ‘Giffen’s Paradox is exception to law of Demand”. Comment.

ture method of elasticity of demand.

o ¢

Draw the graph of total expendi

Part— B [Marks: 04 each]

@ Draw the diagrams of degrees of elasticity of demand.
=4000 units, ordering

(= : : :

G Calculate economic order quantity when consumption
cost=Rs200 and carrying cost=Rs10.

Explain any four feasons for replacement.

‘ Calculate value of raw material consumed form the following data :opening stock of
faw materials=Rs 35000,pur§hases=Rs95000,Closing stock of raw materials =Rs 20000 ,

. labour=Rs10000 ;purchases returns =Rs 3000.

fflgﬁﬁin 8 ""&',' “Costing is an aid to management.” Comment.
- “Indifference curves are convex to the origin.” Comment and draw the diagram.

Part-C [Marks: 12 cach]

Q8. xplain Marginal productivity theory .
Or i

ﬁ’ *xglain economies of scale of production .
V" Draw the graph and calculate Break Even Point when fixed cost =Rs150000,selling

price=Rs50/unit and variable cost =Rs30/unit .
et Or cocR N

opGE 1 OF 2 P.T.O.

“Define (i) Cost (ji)Profit. ' o oo
agement. whad 18 gmpfﬁ%fwjﬂ




Select the best project by Net Present Value method and give reason for the

same(estimated life is 5 years)

Project A : Initial investment of the project 3,50,000 , Scrap value = Rs 30,000
Project B : Initial investment of the project =Rs 300000 , Scrap value = Rs 25000

Cash inflows of project | Cash inflows of project B | Net Present Value of Re.1 @ 7
A 10% discounting factor

Rs 1,00,000 Rs 90,000 0.909 ]
Rs 1,30,000 Rs 1,00,000 0.826 ' 7
Rs 95,000 Rs 1,35,000 0.751 B
Rs 88,000 Rs 1,15,000 0.683 2]

Rs 80,000 Rs 95,000 0.621 B

******’k*****

PAGE 2 OF 2




29-01-2022(M)

Total No. of Questions: 09] [Total No. of Pages: 02]

Program: B.Tcch.
Semester (1/2)

Name of Subject:Principles Of Engincering Economics and Ma
Subject Code: HSMC-103
Paper ID: 15928

nageraent

Time Allowed: 02 Hours Max. Marks: 60

NOTE: Attempt any six questions .All questions carry equal marks

“Neced is not demand. Effective cconomic demand requires not mercly need but corrc_sponding
purchasing power” comment. Draw the diagram of Law of Demand and explain various
assumptions of Law of Demand.

amines the relationship between output and the scale of inputs

@ “The law of rcturns to scale ex
in the long-run”. Comment and explain diseconomies of scale of production .
(a) Calculale cconomic order quantity(EOQ) and number of orders when consumption
=3,00,000 units, ordering cost=Rs 30 per unit and carrying cost=Rs 2 per unit
() Calculate profits and sales when : cost of production is Rs 5,50,500 ,selling and
Distribution overhcads are 20% of cost of sales and profits are 20% on sales.

J@ “Indiffcrence curve is a set of combinations of two goods that gave the buyer or the customer

cqual satisfaction or utility”. C.omm*e‘ﬁt and explain propertics of Indifference curve .

(@ Draw Breakeven Chart from:-the following data and also verify numerically .
ice =RS 55 per unit

Fixed cost'= RS 3,00,000 ; Variable Cost =RS 25 per unit; Selling pr1

«Select the best project by Net Present Value miethod and give reason for the same (estimated
lifc of the projects is 6 years) .

Cash inllows of project A Cash inflows of project B Net Present Value of Re.l @
10% discounting factor
Rs 1,80,000 Rs 160,000 0.909
Rs 1,60,000 Rs 1,40,000 0.826
Rs 125,000 Rs 1,05,000 0.751
Rs 95,000 Rs 90,000 0.683
Rs 75,000 Rs 70,000 0.621
Rs 65,000 Rs 60,000 ; 0.564

Project A : Initial investment of the project =Rs 3,90,000
Project B : Initial investment of the project =Rs 3,70,000




st Sheet and calculate profits .

@ From the following data Prepare a Co .
/”"/‘_’. - ’ TR
Amount in Particulars Al;xuuxl i1

: Particulars | Rupees
Rupees __________.__@———— 500
| Opening stock of raw,~ 22,000 folce stationery
’ materials P . ’ =300
Direct "vages (P~ 45,000 Director’s fee .27&)00
Closing s:ock of raw @ 20,000 | Salesman’s salary (5 ’ J
material -
Electric power () 7,000 Advertisement ng 2,200 J
Lighting: : Depreciation;
Factary - 2,000 Factory 2 3,900 /
Office ®» 1,000 Office 2 2,000
Purchase of raw materiafP)) 1,50,000 | General Manager’s Salary( o 5,800 I
Rent : | Repairs:
Factory 9,000 Factory < 3,600
Office (0 . 2,200 Office = (o 950
Purchases returns @ 15,000 Direct Expenses @ 5,600 }
Carriage inwards 600 | Carriage outwards @ 325 1

Profits are 20 % on sales.

Rank the projects from the following data according to Pay Back Period Metliod .
Initial investment required for the project A =Rs 1, 80,000
Initial investment required for the project B =Rs 2, 20,000
Net profits before tax and after depreciation are as follow

Year Project A Project B
Ist Rs 90,000 Rs 1,10,000
2nd Rs 60,000 Rs 80,000
3rd Rs 45,000 Rs 90,000
4 Rs 30,000 Rs 75,000
5t Rs 20,000 Rs 35,000 - [

“Management is what manager does.” comment and explain Taylor's Principles of Scientific

Management.

oo ok ek e e s ok



26-02-2022(M)

Total No. of Questions: 09} [Total No. of Pages: 03]

Program: B.Tech.
Semester (1/2)
Name of Subject: Principles Of Engincering Economics and Management
Subject Code: IISMC-103
Paper ID: 15928

Time Allowed: 02 Hours Max. Marks: 60

NOTE: Attempt any six questions .All questions carry equal marks

“Goods move in responsc to price differences from points of low to points Sf higher prlcfj,
the movement tending to obliterate the price difference and come to rest .” comment an

cxplain methods of clasticity of Demand. o )
“The law of variable proportions states that as the quantity of one factor is increased, kcc'pm’g
the other factors fixed, the marginal product of that factor will eventually decline”.
Comment. Draw the diagram of law of variable proportions and explain assumptions of the

Taw.
@ Calculatc economic order quantity(EOQ) and number of orders when annual
\ consumption = 3,00,000 units, ordering cost=Rs 30 per unit and carrying cost=Rs 2 per unit
@ Calculate cost of production when : Prime cost is Rs 5,50,500 ,Factory overheads ‘are
5% of fnc\tory cost and officc and administration overheads are 30% of factory cost .

“Marginal Productivity theory of distribution is widely acceptable by the trade unions™.
Comment and explain the assumptions of the theory.

@ ‘Costing is an aid tp management.” Comment and Draw Breakeven Chart when ,
N\ 8%4 chd cost = Rs 4,20,000 ; Variable Cost =Rs 38 per unit; Selling pricc =Rs 54 per unit. Also

verify numerically
Sclcct the best project by Net Present Value method and give reason for the same (estimated
life of the projects is 6 years)-

Cash in{lows of project A Cash inflows of praject B Net Present Value of Re.l @
12 % discounting factor
Rs 2,90,000 Rs 2,60,000 0.892
Rs 2,65,000 Rs 2,40,000 0.797
Rs 2,35,000 Rs 2,25,000 0.712
Rs 1,05,000 Rs 1,00,000 0.635
Rs 85,000 Rs 80,000 0.567
Rs 70000 Rs 45,000 0.507

Serap value.of Project A =Rs 20,000
Scrap value of Project A =Rs 10,000
Project A : Initial investment of the project =Rs 5,70,000
Project B : Initial investment of the project =Rs 5,20,000

1
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Q7

data Prepare @ Cost Sheet and calculate profits -

% o

m Office stationer

ng stock of raw materials
95,000 Dircctor’s fec

Direct wages i
20,000 Salesman’s sala
1,90,

From the following

Particulars

aterial

Closing stock of raw m
Adver\isement

Electric porvet

Lighting: - Dcprcciation:

Factory 7000 | Factory

Office 4,000 Office

General Manager’s Salar
Repairs:

Rent @
Factory 8,000 Factory
1,200 Office

Office
Purchases returns m Direct Expenses
m Carriage outwards

L=
45,000 Closing stock of work in

Carringe inwards

Opening stock of work in .

pProgress Progress
_| Legal expenses 4,000 L Travelling expenses
Indirect expenses

—| Audit fee
Closing stock of finished

goods

1,30,000

Opening stock of finished goods

Profits are 25 % on sales.

culars Amount in

Rupees

L
900

10.700

5,000

4,200
6,900
1,000

| A

9,800

5,600
1350
8,000

2000

30,000

. Period Method .

following data according to Pay Back Pe
r the project A =Rs 3,715,000

=Rs 3,70,000

re as follow :

Qs. Rank the projects from the
Initial investment required fo
Initial investment required for the project B

Net profits belore tax and after depreciation are &




(1) Differentiate between unity of command and unity of direction

Complelc the following:

Sales = & 4 Prgil; wnee (b) TC =

‘ Giffen’s Paradox is exception to law of Demand”. Comment.

me the diagram and give reason why cost curves are U shaped ?

3
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Total No. of Pages: 02]
[Total No. of Questions: 09) [
Unt. Roll No. ...
Program: B.Tech.
Semester: 1/2 : pie
Name of Subject: Principles of Engg. Economics and Mat.
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NOTE:

1) Each question is of 10 marks.

14-07-21(MM)
2) Attempt any six questions out of nine

3) Any missing data may be assumed appropriately

“ Demand depends on many factors” comment. Draw the diagrams and explain
Various degrees of elasticity of demand

“Under static conditions, every factor including the entrepreneur would get remuneration cqual to ity
marginal product”. Comnment gnd ¢xplain assumptions of Marginal Productivity Theory of Distribution .

(8} Calculate econdmic order quantity(EOQ) and number of orders when consumption =4,00,000
ugits ,ordering cost=Rs 40

per unit and carrying  cost=Rs 2 per unit
Calculate profits and sales when -

u cost of production is Rs 1,90,500 ,selling and Distribution
overheads are 30% of cost of production and prefits are 25% on sales.

(5+5)
(a))Draw the diagrams of properties of Indifference curves and give reasons for the same .
i Explain the relationship. among_marginal product , average product and total product and
draw thc'diagram of law of variable proportions .

(5+5)
Draw Breakeven Chart from the following data and also verify numerically
Fixed cost = RS 2,50,000 ; Variable Cost =RS 20 per unit; Selling price =RS 45 per unit .
From the following data Prepare a Cost Sheet and caleulate profits.
Particular Amount(in rupees) | Particular Amount(in
rupees)
Opening stock of Raw | 1,60,000 Opening stock of Work In 3,00,000
Material P eC. Progress
Opening  stock  of | 70,000 Office Appliances 19,000
Finished Goods
-1 _Plant and Machinzry 3,70,000 ~r Buildings 1.80.000
e Sales i 8,98.000 7-Sales Returns 10,000
.| Material purchased 3,28,000 4 Freight on materials \ 12,000
purchased {
| Pur<hase returns 5,800 Direct labour | 1,70,000 ;x
— Indirect labour , 19,000 Factory supervision | 11,000 |
Factorv repairs + | 17,000 Heat, light & power | 75,000 B
Carriage outwards 2,000 Sales travelling | 9.000 )
~| Sales Prcmotion 20,800 Distribution department | 17,000 L
: salaries & wages ‘
Office salaries 9,600 Closing stock of Raw | 1,70,000 j
— Material
Closing stock of Work | 1,86,000 Closing stock of Finished | 1,05,000
In Progress Goods .
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4% on

Depreciation should be provide as 5% on OfficeAppliances,10% on Machinery and
office

Blnldmgs. cht‘, Iight qnd power are to be distributed in the ratio of 8:1:1 among factory,
and selling & distribution respectively.

mated life of

“Select the best project by Net Present Value method and give reason for the same (esti

the projects is 5 years)

Cash inflows of project A Cash inflows of project B WW
| 10% discounting factor____——

Rs 1,80.000 Rs 160,000 (0909 ————

Rs 1.60,000 Rs 1,40,000 o826 ]

Rs 125,000 Rs 1,05,000 (0751

Rs 95.000 Rs 90,000 0.683

Rs 75.000 Rs70000 ___ ___loed ——

t =Rs 4,00,000

Project A : Initial investment of the projec
=Rs 350000

Project B : Initial investment of the project

Rank the projects from the following data according to Pay Back Period Method .
Initial investment required for the project A =Rs 2, 00,000,
B =Rs 2, 50,000

Initial investment required for the project

Net profits before tax and after depreciation are as follow

Ycar Project A Project B

| Ist Rs 100,000 Rs 1,20,000
2nd Rs 70,000 Rs1,00,000
3rd Rs 45,000 Rs 90,000
4 Rs 90,000 Rs 95,000
5 Rs 70,000 Rs 75,000

@ «“Management ig getting things donc through others” comment with the help of Henri

Fayol's Principles of Maragement ..
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1) Parts A and B arc compulsory et
2) Part-C has Two Questions Q8 and Q9. Buth are compulsory, bt with interna: ¢iol

3) Any missing data may be assumed appropr iately

Part— A [Marks: 02 each]

i _ @ ‘Deﬁne@ﬁoonamics (ii) Cost
' Explain Giffen’s Paradox..

Delmc \x) Pricg (i) Marginal Cost .
T C‘ -:‘Zé- R + ommeee

Consumer’s Surplus =9

Part-B {Marks: 04 cachi
Draw the diagrars of Law of variable proportions and explain different stages of the law.
Calculate profits and sales when cost of production is Rs 3,40,060 selling and distributic
overheads are 30% of cost of production and profits are 20% of cost of szles .
“Ma rbmaf product mcreascs or decreases at a higher rae than average product.”Comm

sinel oF raw
2 SLOCK O Taw

@ Calculate value of raw material consumed forin the following data : opening
s =Rs35,000,

ATl at s

=n
[s1 8%

S S,

I

=Rs 45,000 purchases=Rs10,05,000 closing stock of ravy materizl

materials
* riage inwards=Rs10,000, purchases returns =Rs 50,000 carriage inwards=Rs ’5, ao.
' @ Calculate payback period when
Investment=Rs 2,00,000 and annua! returns = Rs 80,000 i
“Mam;:emem is~ getting thmgs dore lh:oqgh Othu‘: "(.ommcm and Txpla n en) four
i
‘ prine plcs ofmanaaement = i
i
é
)
§
%
!
. i
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i
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Part-C

faw the diagrams of degrees sfelasticity of demand .
; Or V
Explain dis¢cox\olnies of scale of production .

@mw the grap'h.zmd caloulate Break-E‘vén‘ Point when fixed -cost =R§_-2,50,0907 selling
N/ price=Rs B0/unit and variable cost =Rs55/unit Verify the answgr'numgﬂ(??! ly also-

Or.

Caleulate Profitand S_ggé from the following data:

—Opening balance of Raw Materials = Rs 1,70,000
purchases of Raw Materials = Rs 400,000

Closing Stock of Raw Materials = Rs 1,20,000.
Carriege Inwards = Rs 20,000
Purchases returns = Rs 30,000

‘Girect Wages are’ 75 % of raw materials consumed

Direct Expcnses are 10% of direct wages
Factary overheacs are 40% of factory cost,

Gffice and adminisiration overheads are 45% of works cost,

Sclling and distributicn overheads are 259% of cost of production
Opening stock of finished goods = Rs 50,000
Closing Stock of finished goods = Rs 40,000 IR

snd profits are 20 % on sales ' -

ooy ok e e Feve ke gk v,
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NOTE:
1) Parts A and B are compulsory
2) Pari-C has Two Questions Q8 and Q9. Both are compulsary, but with internal €

3) Use of scientific calculator is Allowed

canomics and Management

Viax, M:z‘i’ks:v 50
choice

Part— A : {iiarks: (2 eaen

Q1.
Define (i)Variable Cost {ii) Price
Ingifference curve is convex to origin. Comment.

Explain: Remuneratzon of Pm,;Loye&
"Ccst.{‘g js'an aid fo management“ Comment

Calcuiate x.ontnbutxon frem.the Followmg data:.

a@@&@ '

Particulars = o fo Project A7 o Project 8
Variablecost Rs 25,000 " Re18,000 -
Sales TRe315,000 | Rs 158,000

Fixed cost is‘ﬂ's-SS,OOO fbr JOth the projects,

‘ 'xpiam IntemasEconomsasto sca{e i

SRR T [raarksi D gach]

Define Management. Differentiate Jetweéﬁ Unity of Command and Unity of Diection.
Differentiate between ‘catrying cast ang ordenng tost. Calculate EOQ from the foilowing:
Annual consumption= 8000 units; Ordering cost=Rs 80; Carrying cost=Rs 2
Tl Draw the diagram dnd expxam why gast ”Lrves are Lshaped? i
k-xp‘am (a Consumer Surplus wmth exampie o
{b) anels L\ R
a6 Frorm the ollowmg data caicufat‘, pnme costr

, @

particulars. T Amount(Rs) | Particulars. - Amount{Rs)
Opening - balance . of | 25600 - . | Direct expenses. £ . 134700
raw materials P e : e I
Purchases P | 43400 Purchases returns. P_-| 4000
Carriage outwards: G 8000 Direct Labouy P 20300
Closing - stotk: 7000 | carrisge inwards £ 2000
material ' : : i L

Calculate pay
Initia al investment = Rs 1, 50 OOO Pmﬂfs are Rs 30, 000 Rs. 36 GOG Rs. 54 ,CO0 and Rs. 20,000

respectively for four years. :
Pagalof2
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Pari~C [Marks: 12 each}

fferentiate hotwesn

Law  of Variable i
= proporticn and law of returns to scale
tHaborate the relationship between TP MP and AP with

raph. Also i , iable pro ion i
dpplicablz on agriculture? grap > explain how law of variable proportion is

73

Or

@ *)ehn; elasticity of demand. Draw the graph and explain the total expenditure method of elasticity. What will be
the Elasticity ot point S and T and why?

3

i ! Quantity (up!tx) X

Demanded

i ik
@repare stztement of cost 2nd calculate Profit from the following data:

[ particutars Amount Particulars e - i Amount{Rs}
Opening stock{raw materis af) 5,000 Rs Auditor fee 11460
Closing stock (raw material) 2,000 Ps Packing and distribution e &00C
Purchase ef raw material ’ 28, 0C0Rs _+Bank charges 000"
Direct Wapes . 18,000 Rs L Exhibition expenses. 6000
Miachine hours worked 500 hours 4 Legal charges {2000
rdachine heur rate - - 5Rs Carriage outwards 4000

Inits produced = 34200 whereas Units sofd 232000 at 2 Rs per unit.
Or:

@ select the hest project by Net Present Yalue methoad. Give reason {estimated life is 5 years).
Project A:laitial investment of the project =Rs 2, 50,000 S‘_rap value =Rs: 20,000 -
Project B Initial investment of the project = Rs 3,50,000 Scrap value = Rs 45 000

Cash lnflcws,sfprc;ect A Cashinflows of project B : Net Present Value of Re.1 @ 10%
: AT iy 3 il . discounting factor
fis 70,000 : | Rs 95,000 . {0908
Rs 80,000 S = Rs 1,20,000 0.826
Rs 50,000 i ' 'Rs-1,35,000 55 | DIA5T
" Rs 33,000 ~ 2 i Rs1,25000 0 L ' 0.683
" Rs 75,000 ; Rs 50,000 - i “0.621.
Page 2.0f 2
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d management

wiax. viacks: 60

| NQOTE:
2) Part-C has 1-vo Questions Q8 and QO. Both are compulsory, but with internal choice
3) Use of scientific calculator is allowed, et e
Part- A [iiarks: 02 each]
Qi

@ Defme@‘?mﬁtManagement

(7B} ) Two indifference curves never meet each other. Comment.
G) Define elasticity of Demand and explain its types.

d) /Giffen’s paradox is exception to iaw of demand , why?
(e): "Costing is an aid tc management”. Comment

f) Calculate contribution from the following data;

|
|
|
}1 1) Parts Aand:B.are compulsory
|
|
X
|
|
l
\
|

Pzrticulars Project A } . ProjectB
Sales Rs_ 50,000 Rs 90000
Fged Cost = Rs 10,000

Variable Cost Pro;ecx A- Rs 10,000  Variable Cast Pro]ect B=Rs 45,000

Part-B : {Marks:04 each]
t @dlculate £0Q and number of orders from the following da*a ; S
! nnual usage(units) = 4000 - -

Carrying cost of inventory =Rs2'
QOrdering cost= Rs 40
'ai raw the diagram and explain why cost curve is Dish shaped?

4 hifferentiate between Management and Scientific Management.

N Calculate Average Rate of Return on the investment from the foliowing data:

[ : initial investment = RS 3,00,000. Scrap value of Rs 10,000 . Expected life.=5 year

Expected profit for 5 years are Rs 55,000;Rs 70,000; Rs 85,000; Rs:60,000; R° 1, OOO rpsp tiVeiy.
{ &4Calculate the Works LDat from the following: T

' i Particutars 1 Amount(Rs) | Particulars Amount{Rs}

t | Opening stock{raw mater:al )P 10680 Purchases 185000 P; C

| turchase retursn ¢ 2000 Dirett faboyr % of raw materials |
S ,P' A s : consumed £ \
Carriage Inwards . £ C 1000 | Direct expenses | 20% of Direct Labour . ¢l
Closing stock {raw materlal): 4000 Factory \ 40% of works cast : T
-t -C _ overheads , )
| Packing & distribution expense 1560 Carriage | 4000 A P \
8 R9.2% L Dutwards ‘ ‘

Page 10f2
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Part-C [Marks:12 each]
Explain interna : . '
P nternal and external economies and diseconomies of large scale production.
Or ] :
plicable to

Explain the Lz P ' ; :
@ plain the Law of Variable proportion with the help of diagram. Also explain why it is ap

agricultura very soon?

cterminc payback period from the following data:
cash outlay = Rs 50,000,and cash inflows are Rs 20,000,Rs 15,000,Rs 12,000 and Rs 10,000 for

1%,2",3" and 4" year respectively. . ' _
{i1) Select the best project by Net Present Value method and give reason for the same (estimated life

i85 years) :
, Scrap value = Rs 40,000

Project A : Initial investment =Rs 3,50,000
Project B : Initial investment = Rs 4,50,000 , Scrap value = Rs 55,000 iy
Cash inflows of project A Cash inflows of project B | Net Present Value of Re.1 @
in Rs 10% discounting factor
1,600,000 1,45,000 0.909 e ]
1,310,600 1,75,000 0.826
1,20,000 1,45,000 0.751
20,000 j 1,25,000 0.683
65,000 ° 95,000 0.621
; or s )
£ %y Ltd for the year ending 31 Dec,2016.Prepare

@ The foliowing cost data s available from the books o
Cost sheet showing €05t and profit .Also calculate selling price per unit. Number of units Produced and

sold are 250
Particulars Amount{Rs) Particulars Amount(Rs)

Stork of raw materizl (opening) 10,000 Director’s Fee 4,800
Stock of raw material {closing) | 15,000 .Salesman salary 7.500
Purchases of rawmaterial | "80,000 Dep. on office furniture 1,200
Carriage inward 7 | 2.5%of purchases | Advertisement 4,000
Direct expenses 5 [ 20%of direct wages | Office Stationery. 2,500
Direct weges.... 20% of raw material | Factory light and power 1 3,000

e _consumed '

FC;rriage butesard | 3%of sales Bank charges 400

EECtOTY dep. ' / | 7.3,500 " | ‘Dffice expenses 13,000

| Repairs of machinery | 1,500 Selling expenses 5 000

Works manager’s salary is 13% of prime cost and profits are 25% of sales
: ko d kR kAR
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Scientific calculator is Allowed

Detail of allowed codes/charts/tables etc. .......coeererens NA....coviissiemsnsonasmsrmossassssassas
Time Allowed: 03 Hours Max. Marks: 60

NOTE:

1) Parts A and B are compulsory.

2) Part-C has Two Questions Q8 and Q9. Both are compulsory, but with internal choice.
3) Any missing data may be assumed appropriately.

Part-A [Marks: 02 each]

Draw the diagram and give reason why cost curves are U shaped?

Explain Giffen’s Paradox.

i) Complete the following: Sales = ---- + --=—- + -—— i) TC = —— + ——-

) Briefly explain the relationship between Break Even Point, Margin of Safety & Angle of Incidence.
() Two indifference curves never meet each other. Comment.

d) Explain: Remuneration of Employees.

S0

b

Part-B [Marks: 04 each]

“Costing is an aid to management.” Comment.
Calculate EOQ and number of orders from the following data:
Annual usage (units)= 4000
Carrying cost of inventory= Rs. 2
- Ordering cost= Rs. 40
@ Differentiate between Unity of Command and Unity of Direction.
.01') alculate contribution from the following data:
Particulars Project A Project B
Salec Rs. 50,000 Rs. 90,000
Fixed Cost = Rs. 10,000
Variable Cost Project A= Rs. 10,000 Variable Cost Project B=Rs. 45,000
Management is getting things done through others.” Comment and explain any four Fayol's

principles of management.
@Distinguish between NPV & IRR.

Page 1 of 2 .
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part—C
rns to Scale. Elaborate the

. ions & Law of Retu .
Variable Proportio tions is applicable

8. Differentiate between Law of :
: h graph. Also explain how law of Variable Propor

relationship between TP, MP & AP wit

e various degrees of

on agriculture.
) OR ]
“Demand depends on many factors”. Comment. Draw the diagrams and explain th
elasticity of demand.
Q9. From the Following Information, Prepare Cost Sheet: o
Rs. .
+ Finished Goods on 1-1-2022 50,000 * Heat, Light & Power 20,000
v/ Raw Materials on 1-1-2022 10,000  Factory Insurance & Taxes 5,000
« Work — in — Progress on 1-1-2022 14,000 \ Repairs to Plant 3,000
o+ Direct Labour 1,60,000 v Factory Supplies 5,000,
v Purchase of Raw Material 98,000 « Depreciation — Factory Building 6,000
40,000 \ Depreciation — Plant 10,000

— Indirect Labour
Other Information Made available is —
Factory Cost of Goods Produced in 2022

- Raw Materials Consumed in 2022

_- Cost of Goods Sold in 2022
No Ofﬁcs & Administration expense

-~

Rs. 2,80,000
Rs. 95,000
Rs. 1,60,000
s were incurred during the year 2022.

OR

A Firm whose cost of capital is 10% is considering two mutually exclusive projects X & Y, the cash flows

of which are given as follows:

Year Project X Project Y
Rs. Rs.
0 -100000 -70,000
1 80,000 60,000
2 80,000 60,000
The Present Value of Re 1 to be received at the end of each year, at 10% p.a is given below:
Year 1 2 3 4 5
LAY 0.91 0.83 0.75 0.68 0.62
Suggest which project should be taken up using:(i) N ii itabili
oo ; p g:(i) Net Present Value Method (ii) Profitability Index
o 3k ok ok ofe 20 o ok ok e ok ok
C\L’
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